



Naam: _____

Datum: _____ Score: _____

$$7^{(-2)} - 4 =$$

$$(-10)^{(-1)} + 8 =$$

$$(-10) - (-8) =$$

$$(-8)^{(-1)} - (-9) =$$

$$10^{(-1)} - 3 =$$

$$5^2 - (-6) =$$

$$7^2 - 2 =$$

$$9^{(-2)} + 4 =$$

$$5^2 + (-4) =$$

$$(-10)^2 - (-3) =$$

$$7^{(-2)} - 7 =$$

$$2^2 + 3 =$$

$$(-9)^{(-2)} - 7 =$$

$$8^{(-1)} + 7 =$$

$$7^2 - (-4) =$$

$$(-6)^2 - 8 =$$

$$(-8)^2 + (-3) =$$

$$4^{(-1)} + (-2) =$$

$$6 - (-4) =$$

$$7 + 2 =$$



Naam: _____

Datum: _____ Score: _____

$$7^{(-2)} - 4 = \left(-\frac{195}{49}\right) = \left(-3\frac{48}{49}\right)$$

$$(-10)^{(-1)} + 8 = \frac{79}{10} = 7\frac{9}{10}$$

$$(-10) - (-8) = (-2)$$

$$(-8)^{(-1)} - (-9) = \frac{71}{8} = 8\frac{7}{8}$$

$$10^{(-1)} - 3 = \left(-\frac{29}{10}\right) = \left(-2\frac{9}{10}\right)$$

$$5^2 - (-6) = 31$$

$$7^2 - 2 = 47$$

$$9^{(-2)} + 4 = \frac{325}{81} = 4\frac{1}{81}$$

$$5^2 + (-4) = 21$$

$$(-10)^2 - (-3) = 103$$

$$7^{(-2)} - 7 = \left(-\frac{342}{49}\right) = \left(-6\frac{48}{49}\right)$$

$$2^2 + 3 = 7$$

$$(-9)^{(-2)} - 7 = \left(-\frac{566}{81}\right) = \left(-6\frac{80}{81}\right)$$

$$8^{(-1)} + 7 = \frac{57}{8} = 7\frac{1}{8}$$

$$7^2 - (-4) = 53$$

$$(-6)^2 - 8 = 28$$

$$(-8)^2 + (-3) = 61$$

$$4^{(-1)} + (-2) = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$6 - (-4) = 10$$

$$7 + 2 = 9$$